	CIS 2168 Fall 2012, Quiz #3

	Name:   
                                                                                   


For all following questions, assume that the class Node contains the fields

int value;

Node next;

	Q1: 2 points
What happens in the JVM when the JAVA line "Node n = new Node()" is processed?

· a new class named "Node" is created

· an instance of class Node is created

· a reference of type n is created

· a new instance of class Node is created, along with a reference n to it



	Q2: 2 points

Given a reference n to a Node object, how do you retrieve the "value" field?

· next.n.value

· n.value

· next.value

· value.n



	Q3: 4 points
Given a list with start reference "Node start", write code to find the last element in the list 
Assume start is not null. Note: do NOT change the value of start. (Hint: it's only 3 lines of code).


	Q4: 2 points

Inserting a Node into a list at first position

· Is a fast operation, since it is independent of the number of elements in the list

· Is a fast operation, since it is dependent of the number of elements in the list

· Is a slow operation, since it is independent of the number of elements in the list

· Is a slow operation, since it is dependent of the number of elements in the list


